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1. Consider the following statements :

The legendary ruler Marthanda Varma won a decisive viclory against the Dutch
which was

i. The most fearsome military and colonial power of the time.

ii. A gquasi-government in Travancore.

ili. A trading company.

iv. The ruler of Kerala.
Which of the statements given above is/are comect 7 Select the answer using the
options given below.

A) Only i B) Only i

C) Only ii and iii D) Only iv

. Which of the following statements is correct about the formation of the Indian National
Congress in 1885 7

i. It was started by the British initiative to act as the Safety Valve to curb anti-British
feeling.
ii. It was the culmination of political awakening and national consciousness to achiave
anti-imperialist objectives.
iii. The educated elites founded it to fulfil their aspirations of grabbing political power.

iv. It was founded by Mahatma Gandhi.
Select the correct answer using the options given below.

A) Only iii B) Onlyi
C) Only i D) Only iv

3. Consider the following statements about the Round Table Conference, 1830 - 31

i The British fostered the idea that the conference was a failure in order to diffuse the
success of the Civil Disobedience Movement.

ii. Gandhi returned empty handed from the Conference.
iii. The British were serious about granting Responsible Government to India.
iv. India was promised independence at the Conference.

Which of the statements given above is correct 7 Select the answer from the options

given below.
A) Only i and iv B) Only i
C) Only i D) Only i
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Consider the following statements
The American Revolution of 1776 precipitated into serious and open mnl'llntug&nt
Great Britain because
i. The Americans opted to go outside the British empire and its controlling system.
ii. The Americans were inspired by democracy and republicanism.
ii. The British Government in the colonies treated Americans as subjects of Britis
monarchs.

iv. The Americans desired freedom from Britain.
Which of the statements given above is/are correct 7 Select the answer from the
options given below.

A) Only ii and iv B) Only i and iii
C) Onlyiand ii D) All of the above
Consider the following statements :

The pre-revolutionary France was characterised by feudal nnd
because of m‘nmw ﬁndulur
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options given below. . 3

A) Only i and iv B) Only iii

C) Only i D) Mone of the above

The National Education Policy (NEP) addresses many growing imperatives o
because '
. It will help establish highest educational standards.

ii. It will facilitate Indian educational institutions to set up their campus
countries as well as allow foreign universities to set up their campuses

iii. It lays emphasis on multidisciplinary education to result in high quality
research.
iv. It focuses on no separation between the streams of arts, commerce ant

Salect the correct answer from the options given below.

A) Only il B) Only i

C) Only iii and iv D) All of the above
e
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10.

1.

12.

List —| List -

(Peak) (Range)
i. Dhupgarh a. Nilgiri
ii. Gurusikhar b. Satpura
iii. Anamudi C. Aravalli
iv. Dodabetta d. Annamalaj

Ali-d ji-g ii—b iv-a
B) i=b ii-d iii-a V-
Cli-b ii-¢ li—d iv—a
D)i-c ii—-g i—d iv—h

a. ‘Surface waves’ cover largest distance of aj| seismic waves,
b. 'P" waves travel with fastest speed through solid material,
C. 'S waves can Pass through both solid ang liquid medium,

A) Only a is correct
C) aand b are correct

i il

B) a,band e are correct
D) band ¢ are correct

Lacustring deposits found in the valley of Kashmir

A) Karewa B) Terai

C) Bhangar D) Khadar

In which district of Kerala, Dhoni waterfall is locatad 7

A) Kasargod B) Malappuram

C) Kannur D) Palakkad
In which State of Ingia, World's longest Highway tunnel, Atal tunne is
A) Himachal Pradesh B) Sikkim

C) Jammu and Kashmir

D} Arunachal Pradesh
=B~

e’
located 7
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13. Which of the following statement is/are correct about the MITI Aayog ?
i. NITI Aayog was formed on 25" January 2014,
ii. NITI Aayog comes under the Ministry of Commerce and Industry.
ji. The full form of NITI Aayog is National Institution for Transforming India.
iv. The NITI Aayog is a policy think tank of the government of India.

A) Only i, iii B) Only iii, iv

C) Only i, iv D) All of the above (i, ii, iii and iv)
14. In India, GST rate for various goods and services are

A) 5%, 12%, 18%, 28% B) 6%, 12%, 18%, 28%

C) 5%, 12%, 18%, 26% D} None of the above

15. As per proposals of union budget of 2022 — 23, which of the following tax contributes
maximum share out of the total tax revenue collection ?
A) Union excise duty
B) Corporate tax
C) Income lax
D) Ennd's and Service Tax

" 16, Consider the following statements :
i, India ranks first in the world in fruit production.
i, India ranks second in the world in the export of tobacco.

Which of these statements is/are correct 7
A) Only i B) Only i C) Both i and ii D) Neither i nor i

17. Arrange the following sub-sectors of the service sector of the Indian economy in
ascending order of their contributions to the GDP in recent years.
i. Public administration, defence and other services.
ii. Financial, real estate and business services.
ii. Trade, hotels, transport, communication and services related 1o broadcasting.
A) i, i, i B) i, i, il C) iii, di, 1 D) i, i, i

=

18. Consider the following statements :
i. Agriculture sector's contribution to the Indian economy is much higher than the world's

average.
i. The industry and services sector's contribution is lower than the world's average.

Which of these statements is/are correct 7
A) Only i B) Onlyii C) Bothiandii D) Neither i nor ii
A 8-
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21.

22.

24,

25.

Which among the following is not a part of the Mini Constitution ?
A) Directive Principles were given precedence over Fundamental Rights

B} Questions regarding elections of President, Prime Minister and Speaker of Lok Sabha
was taken out of the purview of the judiciary

C) Curtailed the Judicial Review power of the High Court
D) Transferred five subjects from the State List to the Concurrent List

The Writ that the Supreme Court issues to Inferior Courts or Tribunal Board,
Corporation or any other type of administrative authority, commanding to perform
their official duties that they have failed or refused to perform

A) Habeas Corpus  B) Certiorari C) Mandamus D) Quo-Warranto
Which Article of the Indian Constitution specifies the powers and functions of Grama
Sabha 7

A) Article 243 A B) Arficle 40 A C) Article 40 B D) Article 243 B

The idea of a Constituent Assembly for India was put-forward for the first time by
A} Jawaharlal Nehry B) Dr. B.R. Ambedkar

C) KM. Munshi D) M.N. Roy

Who was the calligrapher that hand-wrote the Indian Constitution 7
A) Pingali Venkayya

B) Prem Behari Narain Raizada

C) J.B. Kripalani

D} Krishnaswami Ayyar

Who is the present Comptroller and Auditor General of India 7
A) Girish Chandra Murmu B) K.K. Venugopal
C) Shashikant Sharma D) Rajiv Mehrishi

The Kerala State Planning Board is constituted to advise the state on development

planning. Which among the following is/are the functions of the State Planning A
Board ?

I. Formulating Five-Year and Annual Plans,
ii. Writing the annual Economic Review.
iii. Fostering cooperative federalism through structured support initiatives,
iv. Interdeparimental coordination with respect to Plan schemes,
A) Only i, i and iii B) Only ii, iii and iv
C) Only i, i and iv D) All of the abave (i, ii, iii and iv)
-10-
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33.

a0, Which of the following statement(s) regarding Lok Ayukia and Upa-Lok Ayukta in

al.
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Karala are correct ?

i. The Governor appoints a person to ba known as Lok Ayukta and two other persons
to be known as Upa-Lok Ayuktas.

ii. A person who holds office as the Lok Ayukta oran Upa-Lok Ayukta, after completion
of tenure, are eligible for re-appointment to that office.

iii. The Lok Ayukta Act deemed to have come into force on November 1998,

A) Only i and ii B) Only i and iii

C) Only i and iii D) All of the above (i, ii and iii)

The Kerala State Literacy Mission Authority (KSLMA) is an autonomaous institution

under the General Education Department, Government of Kerala. Find the corract
statement (s) associated with the Mission.

i. The bensficiaries of the Mission are illiterates, nec-literates, school dropouts and
those interested in Life Long Education.

ii. The Mission creates scope for application of functional literacy to improve living
conditions and quality of life.

jii, It informs the people about developmental and welfare projects of the government.
A) Only i and ii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

Kudumbasree is a poverty eradication and women empowerment programme
implemented by the Kerala Government State Poverty Eradication Mission
(SPEM). Find the correct pair of Program Domains and Key Programs of the
Kudumbasree.

i, Women Empowerment < National Slum Development Programme (NSDF)
i. Economic Empowerment < Collective Farming
iii. Social Empowerment < Destitute Identification and Rehabilitation
A) Only i and i B) Only ii and i
C) Only i and iii D) All of the above (i, i and iii)

The Directorate of social justice is a State Government machinery, which acts as
the implementing organisation of all the social justice initiatives for the appropriate
beneficiaries. Find the correct pair(s) of Social Justice Initiatives and the Beneficiaries
promated by the Directorate from the following set.

i, Miramaya Health Insurance Scheme < Differently Abled
ii. Samanwaya ¢ Social Defence
iii. Abhayakiranam « Women Destitute
iv. Sayamprabha Home <« Senior Citizens
A) Only i, i and iii B) Only ii, iii and iv
C) Only i, iii and iv D) All of the above (i, ii, iii and iv)
-14-
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34. Which one of the following legislative procedure is not a device used for legislative
control over executive in the State Legislature ?
A) Question Hour E) Calling Attention Motion
C) Governor's Address D) Adjournment Debates

35. Which of the following statement (s) regarding the ‘Citizen Charter of Kerala Local

Self Government Department is/are corract 7
I Itis published with the aim of providing the quality of service rendered to the pubilic.
ii. It provides information regarding the mandates of the concernad department,

li. It describes the services offered by the department at a time limit within which the

services are provided,
A) Only i and i B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

36. Which of the following statement (s) regarding the Governor of States in India is/
are correct ?

.. The executive power of a state is vested with the Governor which he/she exercises
himself or through subordinate officars.
li. The Governor gives assent, withholds assent or reserves for the consideration of
the Bill passed by the legislative assembly.
iii. The Governor is consulted for appointment of judges of the High Court.
iv. The Governor cannot act at his/her own discretion while perfarming his functions.
A) Only i, ii and iii B) Only ii, iii and iv
C) Only i, ii and iv D) Al of the above (i, ii, iii and iv)
37. From the following list of medical procedures, choose the ones that could generate
aerosols and hence aid in the spread of COVID-18.
. Intubation.
ii. Arterial Line insertion.
iii. Central Line insertion.
lv. Laboratory Centrifugation,
v. Percutaneous Intervention.
vi. Manual Ventilation.
A) Onlyii,ivandv  B) Onlyj, ivand vi C) Only i, iiiand vi D) Only i and vi

-

38. The correct HIV life cycle sequence is
A} Fusion - Binding — Budding — Reverse Transcription — Integration — Replication -
Assembly
B) Integration - Binding — Reverse Transcription - Fusion — Assembly - Replication —
Budding
C) Integration — Binding — Reverse TrwmmPﬁm—FLm—thhM—ﬂmmﬁy—Bu:ﬁg
D) Binding - Fusion — Reverse Transcription - Integration — Replication — Assembly —
Budding
A 18-
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30. This form of polsoning affects Cytochrome C oxidase and a progenitor form of Vitamin B12
is usually administrated as first line treatment. The condition of concern here being

A) Carbon monoxide poisoning B) Cyanide poisoning
C) Phosgene poisoning D) Arsenic poisoning
40. Choose the odd one out. X
A) Levo-Thyroxine B} Oxytocin C) Glutamate D) Acetyl Choline

41, Choose the correct statements .
i, Wernicke Encephalopathy is caused due to niacin deficiency.
ii. Korsakoff syndrome is caused due to a thiamine deficiency.
iii. Both disorders are associated with heavy alcohol use.
iv. Immediate treatment can reverse Korsakoff syndrome but cannot reverse Wemicke

Encephalopathy.
A) Only i, ii and iv B) Onlyiandii  C) Only ii and iii D) Only ii, iii and iv
42, Match the following.
a. Productive Cough p. Zika Virus
b. Thrombocytopenia g. Typhoid _
c. Foetal Microcephaly r. Atypical Pneumonia
d. Pelvic inflammatory disease 5. Gonorrhoea

t. Typical Pneumania
u. Dengue Fever

Al a-r, b—-p, c—8 d-q B)a-t b=p, c—u, d=q
C)a-t b-u, c-p, d-s D)a-r, b-u, c-5, d-8
43. The COVID-19 Vaccine Sputnik V is of which type 7
A) mBNA vaccine B) Viral vector (Adencovirus based) vaccine
C) Inactivated vaccine D) Protein subunits vaccine

44. From the following list, choose the ‘incorrect’ statements.
i. Type 1 diabetes is the result of an auto-immune response.
ii. Type 2 diabetes has a strong genetic correlation.
ii. Type 1 diabetes is a fairly common lifestyle disease.
iv. Severe obesity is a risk factor for Type 1 diabetes.
A) Only i, ii and iv B) Only iii and iv

C) Only iand i D) Only i, il and v
A -18-
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45.

The equilibrium state of a rectangular block of height H = 6.0 cm and density 900 kg/m?,
which floats in a liquid of density 1350 kg/m® is as shown in the figure.

If the block is pushed downward so that it is fully submerged and then released,
what is the magnitude of its upward acceleration 7

A) 3.27 m/s? B) 4.90 m/s* C) 9.80 m/s® D) 14.7 m/s®

46. Arjun had a dinner rated 1000 kilocalorie. He wishes to do an equivalent amount

47,

48,

49.

50.

of work in the gymnasium by lifting a 50 kg barbell. He can raise the barbell 2.0 m
each time he lifts it and he regains no energy whan he drops it. How many times
must he raise the barbell to expend this much energy 7

A) 240 B) 1020 C) 2100 D) 4200

A sky diver jumps out of a hovering helicopter. A few seconds later, another sky
diver jumps out and they both fall along the same vertical line. Ignore air resistance,
s0 that both sky divers fall with the same acceleration. Which among the following
statements is/are correct 7

. The difference in their speeds remains the same throughout the fall.

ii. The vertical distance between the divers stays the same throughout the fall.
lii. The first jumper always has a greater speed than the second.
A) Only iii is correct B) Only i and ii are correct
C) Only i and iii are correct D) Only ii and iii are correct

In the March 2022, the quadrupole mass spectrometer CHASE — 2 onboard the
Chandrayaan-2 mission observed the global distribution of Argon — 40 in the lunar
exosphere. What does CHASE - 2 stand for 7

A) Chandra's Atmospheric Composition Explorer — 2

B) Chandra's Altitudinal Characteristics Explorer — 2

C) Chandrayaan Altitudinal Characteristics Explorer - 2
D) Chandrayaan Altitudinal Composition Examiner — 2

Which shape is associated with the orbital designated byn=2,1=1 7
A) Spherical B) Tetrahedral C) Dumb-bell D} Pyramidal

The azeotropic mixture of HCI and H,O is

A) 36.6% HCI B) 20.24 % HCI C) 48.2% HCI D) 57% HCI
-0



118/22 - K

45. 1350 kg 208055 H = 60 om 530 b 900 kyym' momdan

i :.!i;,n“ﬂ Fnetmen i,

fon etogg Beest, et shewysh Hericr He

C) 9.80 m/s? D} 14.7 mis®

oRlg) 508.22
R, s o
e msone oe
L0 RoRe 7
niw

2 L T mw S w ’&f—ﬁ.‘]
@gﬁ:ﬁmmmﬂmmﬁm@umﬁmmmﬁtmwm
. Eddﬁ%%ﬁ%ﬁ@w totie shoaad,
i :%ﬁdnﬁmﬁ:&dwuaﬁﬂ;&mmmqmm
iii. mmmﬁwfmmﬁmammmnﬂwmma

A) IlI:EingIh B) i =8y ii aing Xo
-- 0 sy

—_— M—E
E 3 f: g =RIOCS WA <Hlsd9 cern2 abr
o - “
B} “ﬂ%ﬂu%mw o Tpede -2
C) womoin wdiue BN mUHL oezReco’ - 2
D) el oinT ©9ia a8 RSPy ofioas - 2

49, cinsemodn=21=1 nndﬂn@qu*ommﬂﬂm@mﬂ?

A) Fsoder B) Yingde*  C) gubr-vder D) ataoner
50. =Eb HOI 562 H,0 @ excdnedincas” aogrmmnc
A) 36.6% HCI B) 20.24 % HCl C) 48.2% HCI D) 57% HCI

A «21-




—— e —

118/22 - K *
51. Calculate the pH of 0.001 M NaOH solution,
A) 3 B) 10 C) 11 D) 7
52. Which noble gas do not form clathrate compound with guinol ?
A) Neon B) Argon C) Krypton D) Xenon
53. “This Life at Play : A Memair” is a book on the life of
A) Girish Karnad B} U.R. Anantha Murthy
C) B.V. Karanth D) Raja Rao
54, “There Comes Papa" is a renowned painting by
A) M.F. Husain B} Anjaly Ela Menon
C) Raja Ravi Varma D) Rabindranath Tagore
55. The South Indian singer who won Padma Bhushan in 2021
A) 5. Janaki B) K.S. Chithra
C) 5.P. Balasubramanyam D) P. Susheela
56. The total number of teams participating in 2026 Football World Cup
A) 42 B) 38 C) 48 _ D) 34
57. Salman Rushdie's work published in the year 2021
A) Liberalisation B) Love is an Ex Country
C) Languages of Truth D) Empire of Pain
58. Who won Fukuoka Grand Prize 2021 7
A) Karan Thappar B) Vikram Seth
C) Palagummi Sainath D) Kuldip Nayyar
59. The winner of Dada Saheb Phalke Award 2019
A) Amitabh Bachchan B) Lata Mangeshkar
C) Rajinikanth D) Dev Anand

60. EEPROM stands for
A) Electrically Erasable Programmable Read-Only Memory
B) Erasable Electronic Programmable Read-Only Memory
C) Electrically Enabled Programmable Read-Only Memory
D) None of the above

61. Program that translate high-level programming language into machine code

A) Compiler B) Assembler C) Interpreter D) Both A) and C)
3.
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62.

63.

67.

69.

Debian LINUX is
A) Desktop Operating System B) Server Operating System
C) Both A) and B) D) MNone of the above

What is the full form of CERT-In ?

A) Computer Emergency Response Team - India
B) Computer Emerging Restriction Team — India
C) Computer Efficiency Response Team - India
D} None of the above

is a collection of internet-connected devices, such as servers, PC's
and mobile phones, which are infected and controlled by malware.

A) Router B) Firewall C) Botnet D) VPN

In case of any information sought is related to the life or liberty of a person, the State
Public Information Officer is required to provide such information within

A) 12 hours of the receipt of the request  B) 24 hours of the receipt of the request
C) 48 hours of the receipt of the request D) 72 hours of the receipt of the request

The right to service mentioned under the Kerala State Right to Service Act, 201215
available to

A) General Public B) Concerned Persons

C) Eligible Persons D) Applicants

Among the following which is specifically mentioned as a right of consumers under
the Consumer Protection Act, 2019 7

A) Right to Consumer Education B) Right to Consumer Awareness

C) Right to Consumer Protection D) Right to Consumer Sensitisation

As per the provisions of Transgender Persons (Protection of Rights) Act, 2019, a
certificate of identity as transgender person can be issued by

A) District Magistrate B) Chief Judicial Magistrate
C) First Class Judicial Magistrate D) Executive Magistrates

As per the POCSO Act, 2012, the punishment for penetrative sexual assault is
A) Mot less than 3 years but may extend up to seven years

B) Mot less than 5 years but may extend up to ten years

C) Mot less than 7 years but may extend up to imprisonment for life

D) Mot less than 10 years but may extend up to imprisonment for life

2
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70.

71.

72,

3.

74.

(N

76,

78.

Among the following, which is enacted to prohibit triple talag ?
A) Muslim Women (Regulation of Marriage) Act, 2019

B) Muslim Women (Regulation of Divorce) Act, 2019

C) Muslim Women (Protection of Rights on Marriage) Act, 2019
D) Muslim Women (Protection of Rights on Divorce) Act, 2019

The population of a city increases by 9% every year. If the present population is 65,400,
what was it a year ago 7

A) 54,000 B) 58,860 C) 60,000 D) 71,286

If X ;3 & E‘gﬂ . what is the value of x ?

A) 1 B) 2 C) 3 D) 4

If a train travels at Em of its original speed and reaches its destination by 20 minutes
late, find the usual :'m in minutes taken by the frain to complete the journay.

A) 50 B) 60 C) 70 D) 80

The average age of a group of 25 people was 28. If a man of 20 years leaves the
group and another one enters into the group, the average age increases by 2. What
is the age of the new one enters into the group ?

A) 50 B) 60 CPTG T e g
Find the sum of all multiples of & those lie in between 100 and 400,
A) 12450 B) 12201 C) 12500 D) 12750

Choose the next number in the seres. 4, 9, 25, 49, 121, 1689, . ..
A) 196 B) 225 C) 256 D) 289

If 1¥ November 2001 is Wednesday, 1¥ November 2005 will be
A) Friday B) Saturday C) Sunday D) Monday

If Varun is in the 15" position from the bottom of a queue of 30 people, what is his
position fram the top of the queue 7

A M B) 15 C) 16 D) 17 J
Choose the value of 4% 54x54+3x54x54x46+3x54 x 46«46 + 46« 46« 46

Bd =54 — 46 = 46
A) 1250 B) 1350 C) 1450 D) 1550

If ‘AMERICA’ is coded in a certain way as 'BDJSFNE’, find the right option for
‘ENGLAND' coded in the same way,

A} EOHMBOF B) EOBMHOF C) FOHMBOE D) FOBMHOE
-2E-
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(i)
81.

82.

85.

(i)

a7.

Ba.

=

English Grammar :

My father will retire from service a year,

A) of B) on C) in D) by

| saw _ one ayed parson.

A) a B) an C) the D) no article
She studies very hard every night, ?

A) doshe B) doesn’t she C) will she D) did she
The brothers as well as their sister good at their studies.

A) Is B) was C) has D) are
The car (break) down and we had to walk home.

A) break B) had broken C) has broken D) broke
Vocabulary :

One word substitutes
Ammm#mmmmm.,iEMMa
A) Store ~ B)Sall  C)Booth D) Boutique

. Idioms and their meanings :

The meaning of the idiom ‘to leave someone in the lurch’ is
A) To come to compromise with someone

B} To put someone at ease

C) Constant source of annoyance 10 someone

D) To desert someone in his difficulties

Phrasal verbs :

She the orphan as her own child.

A} brought up B) brought out C) brought in D) brought about
Foreign words and phrases :

The foreign phrase Respondez S'il vous plait means

A) Summons issued by the court B) Reply if you please

C) Roll of honour D) Etiquette

Synonyms :

Choose the correct synonym from the given options :

Loguacious

i i3
A) Talkative B) Thirsty o C) Beautiful D) Ambitious

N
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